BODY-SOLID,Inc.

1900 S. Des Plaines Ave.
Forest Park, IL 60130 USA
Phone:(708)427-3555
Fax:(708)427-3556
www.bodysolid.com

DGYM OWNER'S MANUAL

Download from Www.Somanuals.com. All Manuals Search And Download.




HARDWARE ILLUSTRATION

 W—

(AL)HEX BOLT 1/2"x2"L PARTIAL THREAD QTY.8

—

(A2)HEX BOLT 1/2"x2 1/4"L PARTIAL THREAD QTY.8

¢}
: ¢}

(L]
N/

(A3)ROUND ALLEN HEAD 3/8"x2"L PARTIAL THREAD QTY.4

i

(A4)HEX BOLT 3/8"x3/4"L PARTIAL THREAD QTY.16

T

(AS)HEX BOLT 5/16"x1 3/4"L PARTIAL THREAD QTY .4

DGYM ASSEMBLY INSTRUCTIONS

i E—

DGYM-102006

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

HARDWARE ILLUSTRATION

L
N~

(A6)ROUND ALLEN HEAD M10X35L PARTIAL THREAD QTY.8

p— N

DGYM-102006

Download from Www.Somanuals.com. All Manuals Search And Download.



HARDWARE ILLUSTRATION

=
(’_-
| S—

(A7)ALLEN SCREW 5/16"X3/8"L PARTIAL THREAD QTY.12

(A9)10LB PIN (8250-071) QTY.4

0.0

(ALO)WEIGHT STACK CABLE (8260-009) QTY.4

©

DGYM ASSEMBLY INSTRUCTIONS

DGYM-102006

Download from Www.Somanuals.com. All Manuals Search And Download.



HARDWARE ILLUSTRATION

@

(B1)NYLON LOCK NUT 1/2" QTY.16

e ©)

(B2)NYLON LOCK NUT 5/16" QTY.4

- )
@)
\ /

_) "

DGYM ASSEMBLY INSTRUCTIONS

(C3)3/8"(1.D.)SPRING WASHER QTY.4

(C4)5/16"(1.D.)FLAT WASHER @16 QTY.8

(C5)1/2"(1.D.)SPRING WASHER QTY.4

(B3)NYLON LOCK NUT 1/2"X13UNCX8T QTY.4

©

(B4)NYLON LOCK NUT M10 QTY.8

@20 @

(C2)M10(1.D.)FLAT CURVED WASHER R30 @20 QTY.16

(C6)M10(1.D.)FLAT WASHER @27 QTY.16

(C7)1/2"(1.D.)FLAT WASHER @25 QTY.32

—_——0

DGYM-122006

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

HARDWARE ILLUSTRATION

D1.03/4"X8L STEEL BUSHING (8110-014)----------mmmnmmmmmmm- [BPCS]
D2.03/4"X19.5L STEEL BUSHING (8110-017)-------=--==----- [24PCS]
D3.@3/4" SHAFT COLLAR(9211-046)---------=-n-mmmmmmmmemmmmev [8PCS]
D4.@65X@20X70L RUBBER DOUNT(9310-049)----------------- [BPCS]
D5.95X250 RUBBER PAD(9310-060)-----------=---===-==mmnommmmnm- [4PCS]
D6.WEIGHT SELECTOR BAR(8210-042)--------=mnnnmmmmmmmmmnme [4PCS]
D7.0117 PULLEY(9213-010B)--------=mnnnmmmmmmmmmmmmmmmmmemmmeee [16PCS]
D8.TOP PLATE(8400-006)-------=n=n=mmnnmmmmmmmmmmmmmmmmmmmmeemae [4PCS]
D9.2085mm STEEL CABLE(FDGYMA)-------m-nnmmmmmmmmmmmmmmea- [4PCS]
D1 D2 D3 D4

D5 D6
Y
)
D9
2085

DGYM-102006

Page 2

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

HARDWARE ILLUSTRATION

D11.4770mm DABB For DGYM Steel Cable(FDIOTC)------------------ [LPCS]
D12.4950mm DBTC For DGYM Steel Cable(FDBTCB)----------------- [1PCS]
D13.4350mm DCLP For DGYM Steel Cable(FDCLPC)----------------- [LPCS]
D14.3170mm DIOT For DGYM Steel Cable(FDIOTC)------------------- [LPCS]
D15.7605mm DLAT For DGYM Steel Cable(FDLATC)----------=--=---- [1IPCS]
D16.5000mm DLEC For DGYM Steel Cable(FDLECB)------------------ [LPCS]
D17.4555mm DPCC For DGYM Steel Cable(FDPCCC)----------------- [1IPCS]
D18.4665mm DPEC For DGYM Steel Cable(FDPECC)------------------ [1LPCS]
D19.8645mm DPLS For DGYM Steel Cable(FDPLSB)------------------- [1PCS]
D20.3805mm DPRS For DGYM Steel Cable(FDPRSC)------------------ [1PCS]
D11 D16
4770 - <E): 5000 J
D17

4555 o

4950 =I -

D18
4350 - L 4665 i
D19
:@
3170 . o 8645 J
D20

ol
D12
P
D13
P
D14
2
D15
l!'!l

X

7605 ‘ 3805

DGYM-102006 Page2.1

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

PARTS ILLUSTRATION SHEET

A[1PCS] B[1PCS]
6610-004 6610-005

C[4PCS] D[4PCS]
6610-006 6640-001

e W\

SJE

E[4PCS]
8380-053

F[4PCS]
8380-053

G[4PCS]

8380-054 H[8PCS]

5313-Y002

DGYM-102006

Page 3

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

Above shows STEP 1

assembled and completed

Page 4

©
=,
S
N
N
-
=
VI
)
O

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

Above shows STEP 2

assembled and completed

Page5

©
=,
S
N
N
-
=
VI
)
O

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

y) U

? Above shows STEP 3
assembled and completed

DGYM-102006 Page 6

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

Above shows STEP 4
assembled and completed

DGYM-102006 Page 7

Download from Www.Somanuals.com. All Manuals Search And Download.



Page 8

Download from Www.Somanuals.com. All Manuals Search And Download.

DGYM ASSEMBLY INSTRUCTIONS

-
2 X
03 & X 3
o £ < I %)
w o X o
= © 92]
S.m o v /
Y -——a
Wa
e l®]
c @ -
n 9
()
25
39
< @ I
,,,,,,,,,,,,,,,,,,,, A2
\%

WANION

DGYM-102006




Page 9

\)‘ Ii.,l;@/ :
i AR STR AR
NS
= A > DN

M

, <
s I, iy /

DGYM ASSEMBLY INSTRUCTIONS

3 A > Yo o)
2 N Mva f—;& \@

© B / J mﬂ\ (o o

o & )

W o <«

= © X

n o %

) c

= ©

S g

e

) &

¢ E <

32

<< ®

s iy, \

©
S
S
N
o
i
=
VI
©)
@)

Download from Www.Somanuals.com. All Manuals Search And Download.



o

o)
&5
o)
@©
o

2] B\ Aﬂ MGBQ/ = Q
) TN A

g ) \% N )
SN 3
1] \ ©) FSS%} KERARAR AR AR R ik i‘ 4\ \
IS // <!

)

VAN %
s ) &

/
7~ vw@@

Cable to match illustration

v
Z
O
T
O
»
X
T
0
Z
Vl
—J
0
=
L
)
)
<
=
VI
O
a

Single time of strengthJ

A7
e /
-
DETAIL VIEW

Al10
"
\~o/

Constitute Dual Machine
DPEC, DBTC, DLEC
DABB, DLAT, DPLS,

DPCC

DGYM-102006

WEIGHT CABLE
A7
A7

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

Cable to match illustration

ASx4 D7x4
oxg ) @/\“\
Cix4 g
A2x4 BIx4
Cix4
2 s
el ©
1 _f | DETAIL VIEW
/ 250N |
NS
N7
Double strength(Dg)\ Y
LN
WEIGHT CABLE A7 _,' }
A10 )j S ‘
A7 =i
A7 - @44,
\o/ ) /%
DETAIL VIEW
Constitute Dual Machine
DCLP, DIOT, DPRS
DGYM-102006 Page 9.2

Download from Www.Somanuals.com. All Manuals Search And Download.



DGYM ASSEMBLY INSTRUCTIONS

N g

](/f.&t\x\‘\«\x\\x

/
&

Above shows STEP 7
assembled and completed
I I
i . .
v =g
D2x8 P . A
_ ) —
Y -~ - =
M10 WASHER X8 . e -~ Q @,
~o
MloxssL\}Y e 7))
ROUND BOLT xs_\y/ e Fx4 I
~ .
l\/IlOXlGLj/ Q

ROUND BOLT X8
M10 WASHER X8

Ex4

D2x8

C6x8 \K\ e
A6x8 N
\v/ _— B

BODY-SOLID }/(
£
-

D2x8 -
Ve //
.~ Gx4
M10 WASHER X8 ~_ <
M10X35L .
ROUND BOLT xs\y/ -~ e
D

l\/IlOXlGLf

ROUND BOLT X8
M10 WASHER X8

DGYM-102006 Page 10

Download from Www.Somanuals.com. All Manuals Search And Download.



Page 11

PRy M, A Jv\\\

Above shows STEP 8
assembled and completed

DGYM ASSEMBLY INSTRUCTIONS

Dual exercise charts

©
S
S
N
o
-
=
VI
©)
@)

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

	DGYM-P0
	DGYM-P01-1
	DGYM-P01-2
	DGYM-P01-3
	DGYM-P01-4
	DGYM-P02-0
	DGYM-P02-1
	DGYM-P03
	DGYM-P04
	DGYM-P05
	DGYM-P06
	DGYM-P07
	DGYM-P08
	DGYM-P09-0
	DGYM-P09-1
	DGYM-P09-2
	DGYM-P10
	DGYM-P11

